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PROJETO DE ESTRUTURAS)

-

RELACAO DO ACO

V2 V3 Vi
'S V6 V7
AGCO N DIAM QUANT UNIT C.TOTAL
(MM) (BARRAS) (cm) (cm)
CA60 | 5.0 2 357 714
2 5.0 L6 LL8 65408
CA50 3 6.3 8 340 2720
L 6.3 1200 272 326400
5 6.3 3 177 531
6 8.0 88 CORR 96272
7 8.0 90 268 24120
8 8.0 2L CORR 26136
9 10.0 337 269 90653
10 16.0 3 524 1572
Il 16.0 2L 620 14880
12 16.0 L6 1094 50324
13 16.0 25 1023 25575
|4 16.0 25 265 6625
15 16.0 23 908 20884
16 16.0 23 380 8740
17 16.0 40 665 26600
18 16.0 20 316 6320
19 16.0 32 356 11392
20 16.0 32 396 12672
21 16.0 20 L36 8720
22 16.0 2 L8] 962
23 16.0 6 670 4020
2L 16.0 5 550 2750
25 16.0 L 376 1504
26 16.0 12 1104 13248
27 16.0 2 398 796
28 16.0 | L38 L38
29 16.0 2 4L78 956
30 16.0 | 322 322
3l 16.0 L 362 I1LL8
RESUMO DO ACO
ACO DIAM C.TOTAL PESO + 10 %
(MM) (M) (ke)
CA50 6.3 3296.6 887.3
8.0 1L65.3 636
10.0 906.6 614.8
16.0 2207.5 3832.6
CA60 5.0 661.3 112.1
PESO TOTAL
(kG)
CA50 5970.7
CA60 2.1

VOLUME DE CONCRETO (C-30) = 32.97 M3
AREA DE FORMA = [83.46 M2
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